Name: Dr. Joan Burtner

                                   Date:    November 14, 2013

EGR 252  Fall 2013 Hypothesis Testing Template for One Factor ANOVA
Problem Statement:   
An insurance company intends to use the following data to make recommendations about where to go for certain types of surgery. Given the following costs in dollars, determine if there is a significant difference in the cost of surgery for the three procedures. Use α= 0.05. 
	 Ulna
	Femur
	Tibia

	875
	1325
	900

	775
	1250
	850

	680
	1125
	1050

	980
	1075
	1025


What is the design?    One Factor ANOVA

What are the total number of observations?   12
Is the design balanced?  YES   NO

What is the first factor?  Procedure
What are the levels of the factor?   
Hypotheses

Factor 1: Hospital


H0:
 

H1:
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Minitab or Excel Output
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	

	
	
	
	
	
	
	


Interpretation of Results

Factor 1 

Graphic

[image: image1.emf]Gamma Probability Density Function
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Decision:
H0
Conclusion:
Based on our analysis of the data collected, we can say that.  This conclusion is based on a p-value of 
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